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1] 9208 0|l 5] 6| 7| 6101 5] 9 SIM, DTI1, GD, Mec2, DTI2 / RM1, RM2, VM
2| 8777 Ol Ol O] 5] 51 71 O]l O DTI2, TM / Ed fiz2, RM2, OM1, PAC, Tribologie, Ed fiz3
31 9250 | Ol 51 5] 9| 6/10] 6| 9 AM, DTI1, Mec2, DTI2, Algebra / RM1, Termoth2, RM2, Ed fiz3, Practica dom
41 9255 | O 5] 4| 7] 6| 0O 5|10 Mecl / Mecanisme, Termoth2, RM2, OM1
5( 9646 | Of Of O] O] O] O] Of O SIM / Termoth2, Practica dom IS
6] 9650 | 4] 5| 6| 5| 8| 8| 6] 9 PCLP, Termoth1 /-
7] 10134 | 7| 5| 8| 5| 7|10 5] 7 6,66(SIM /-
8| 9291 | 4| 5| 6] 6| 9| 9| 5|10 SIM, Mec2, Algebra / RM1, Mecanisme
9] 8872 | 0| 5| 51 7| 6] 9] 6] 8 AM, SIM, Mecl, GD, DTI2, Algebra, Fizica, Termoth1 / RM1, Mecanisme, Termoth2, TCD, RM2
10| 9323 | 4| 5| 5| 5| 7|10| 5| 9 SIM / RM1, RM2
11] 9325 | 4| 5] 6| 8| 7| 8] 810 -
12| 9332 | O 5| 5| 7] 8] 9| 7| 8 SIM / Mecanisme, PAC, Tribologie, Ed fiz3, Practica dom-10
13| 9337 | O| 5| 6] 6] 9|10 5| 9 SIM, PCLP / RM1, Mecanisme
14| 9341 0l O] Oof O] ol of 0] O SIM, DTI1, GD / RM1, TCD, RM2, VM
15| 9658 | 4| 6| 5| 7| 6|10| 4|10 -/ Termoth2, RM2, Practica dom
16| 9352 | 4| 5| 5| 7| 9| 9| 6|10 SIM / RM1, Termoth2, TCD
17| 9357 | 4| 6| 6| 5[10/10( 8|10 - / Termoth2, RM2
18| 9359 | O 5] 5| 7| 6| 9| 6] 9 -
19| 9362 | O O 4| 7| 6|10 7|10 SIM, Mec2, Ed fiz1 / TCD, RM2, OM1, Practica dom
20| 9381 0|l 5| 4| 8| 6|10 6] 9 SIM, DTI1, GD, DTI2, Algebra, TM / RM1, RM2
21| 9391 | 4| 5| 5| 7| 8/10| 6(10 SIM / RM1, RM2,Tribologie, VM, Practica dom
22| 9393 | 4| 5| 6| 5| 6[10] 6| 8 SIM / -
23| 9832 | O O O] O] 0] O] Of O SIM, Termoth1, TM / MS, Termoth2, TCD
24| 9409 0|l 5] 5| 8| 610 6] 9 AM, SIM, DTI1, GD, Mec2, DTI2 / RM1, RM2, VM
25| 8966 0l O] Oof O] O of 0] O AM, SIM, Mec1, DTI1, GD, Mec2, DTI2 / RM1, TCD, RM2, MN1, OM1, PAC
26] 9436 | 5| O] 4| O] 6| O 7| 8 SIM, GD, Fizica, Termothl / RM1, Termoth2, RM2
27| 9438 4| 5| 4| 6| 7110 6] 9 SIM, Mec1, GD, Mec2, Termoth1, TM, Ed fiz1 / Termoth2, TCD, Ed fiz2, RM2, Ed fiz3
28| 8977 ol Ol Ol ol of o ol o -/ RM2, MN1,0M1, PAC, Tribologie, VM, Practica, dom IS
29| 10273 5| 7| 6| 7| 6]10 7] 9 6,73| -/ PAC, Tribologie
30| 9498 4| 51 6 7| 8] 9| 7| 9 AM, SIM, GD, Ed fiz1 / RM1, RM2, VM
31| 9539 | 4| 5| 5| 7| 6] 9] 7] 9 -
32| 8668 | 4| 5| 5| 6] 6] 9| 8 9 SIM, GD, DTI2, Termoth1 / Mecanisme, PAC, VM, Ed fiz3
33| 9586 | 4| 5| 5[ 6] 6] 9| 5] 8 SIM / RM2
34| 9591 O 5] 51 5|1 5| 7] 6| 9 -/ RM1, RM2, VM, Ed fiz3
35| 9629 | O] 5] O] 6| 6] 9| 6] 9 -/ Practica dom




